Detail “A”

r—-H———————————

After 2/29/00

Side Frame shown
for ref. only
Pivot Bracket shown
for ref. only
Left side shown

Adjustable Flip-Up Removable Footboard
90FB2 (Sling Seat) and 90FB (Captain Seat)



Adjustable Flip-Up Removable Footboard

90FB2 (Sling Seat) and 90FB (Captain Seat)

After 2/29/00

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly
1 1029501 Plug Button, Black (1") 1 2
2 1098936-NLA | NLA - Bushing, Black (21/64 x 1-1/4 x 23/32") 1 2
3 1098937-NLA | NLA - Bushing, Black (21/64 x 1-1/4 x 1-19/32") 1 2
4 1043627-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 1-3/4") 1 2
5 1028491-NLA | NLA - Washer, Caplugs (11/32" 1.D. x 1" O.D.) 1 2
6 1043628-NLA | NLA - Screw, Hex Head w/ Patch (5/16-18 x 2-1/2") 1 2
7 1016291 Cap, Hub, Black 1 2
8 40188X007-NLA | NLA - Button, Spring Double 1 1
9 1095124-NLA | NLA - Support Tube w/ Spring Assembly 1 1
10 A 1095101-NLA | NLA - Footboard Pivot Assembly - Right 1 1
10 A 1095102-NLA | NLA - Footboard Pivot Assembly - Left 1 1
11 B 1095104-NLA | NLA - Footboard Mounting Hardware 2 1
12 1081224-NLA | NLA - Guard, Footboard Pivot Bracket 1 1
13 98007X005 Tie Wrap (11-1/2" L) 1 2
14 1028769 Locknut (5/16-18) 1 2
15 1074210-NLA | NLA - Washer, Nylon (23/64 x 3/4 x 5/32") 1 2
16 1094614-NLA | NLA - Bracket, Footboard Receiving, Black - Right 1 1
16 1094615-NLA | NLA - Bracket, Footboard Receiving, Black - Left 1 1
17 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
18 1094632-NLA | NLA - Bracket, Stop Pivot Support, Black 1 1
19 1016291 Cap, Hub, Black 1 1
20 1070398-NLA | NLA - Screw, Hex Head (5/16-18 x 1-1/2") 1 1
21 1028491-NLA | NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 1
22 1081217-NLA | NLA - Bracket, Footrest Mounting, Black - Right 1 1
22 1081218-NLA | NLA - Bracket, Footrest Mounting, Black - Left 1 1
23 1094612-NLA | NLA - Footboard, Black (16" W) 1 1
23 C 1094613-NLA | NLA - Footboard, Black (18" W) 1 1
23 1094634-NLA | NLA - Footboard, Black (20" W) 1 1
24 1029545 Screw, Socket Flat Head (1/4-20 x 3/4") 1 4
25 1027097 Plug Button, Black (3/4") 1 4
26 1058517 Clamp, Footplate 1 2
27 1082686 Nut, Barrel, Hex Head (1/4-20 x 11/16") 1 4
28 1094611-NLA | NLA - Support Tube w/ Snap Tube, Black 1 2
29 40188X009 Button, Single Snap 1 2
30 D 1095103-NLA | NLA - Footboard Hardware 1 1
31 E 1095105-NLA | NLA - Kit, Footboard Conversion (16" W) 1 1
31 CE 1095106-NLA | NLA - Kit, Footboard Conversion (18" W) 1 1
31 E 1095107-NLA | NLA - Kit, Footboard Conversion (20" W) 1 1
F 1095125-NLA | NLA - Instruction Sheet, Footboard Assembly 1 1
NOTE: - Includes Items 12-22.

A
B
C
D
E

=

- Includes Items 1-7, 9, and 10.

- Captain seats will use footboards for 18" wide chairs.

- Includes Items 24-29.

- Includes Items 11, 23, and 30.
- Not Shown.




